Honors Algebra 2
Circuit: Review of Linear Functions

Name:
Date:

Start in cell #1. Answer the question. Find the answer and that will become #2. Continue in this manner
until the circuit is done. No calculators. All work must be shown to get full credit for the circuit.

Slope-intercept form: y = mx + b

Standard form: Ax + By = C Point-Slope form: y —y; = m(x — x;)

#1. Answer

Find the slope of the line.

# Answer: 3
y= EX -3

Write the equation in slope-intercept form
2x+3y=-7

1
# Answer: — "

Find the slope of the line:

=2 + 2

2
# Answer: S

Find the slope of the line perpendicular to

3
=——x-2
YT,

2
# Answer: 3

# . Answer: z
Find the slope of the line.

Write the slope-intercept form of the line that e
passes ~
3
through: (4, 3), slope = 5
# Answer: 8x — 3y =7 # Answer: — 2
- 4

Find the slope of the line

2
parallel to y = gx -2

Find the slope of the line:

P
y =%




1
# Answer: "

Find the slope of the line:
(17,-6), (-11,7)

# Answer:

Write the equation of the line
in slope-intercept form given:

Slope =7, y-intercept =5

# Answery = 7x + 5 # Answer: x =1
A
Write the slope- .\ Sketch the graph of
intercept form of the 3x +4y = —12
equation of the line.
-5 43 210 6 45 4 32 1o
Y -
# Answer: — g #____ Answer:y =1
Find the slope of the line: Write t.he equation \
of the line. N
(11,-18), (=1,-7) N
< \\ >
< X >
N
|
Y
# Answer:y =x —1 # Answer: x — 7y = 31

Write the standard form of the equation that
passes through: (3, —4), and is perpendicular to
y=—-7x

Write the standard form of the equation that
passes through (2, 3) and is parallel to y = gx —4




# Answer: — — #___ Answer:y=x+3
- 12

Sketch the graph of the ” Write the sslope-lntercept form of the equation
line: . Slope = s y-intercept = 5
5
=—x - 2 6 45 44 43 2 410
Y=y :

7 5 2
# Answer: y = —-x + = # Answer: —=

6 3 3 x-intercept = 5, y-intercept = 4
Write the equation of the ) Sketch the graph of the
line: line with the given x-

intercept and y-
5 B3hdio intercept. R
# Answer: . # Answer: — =
— 3
o Write the slope-intercept form of the equation of
\\ the line passing through: (2, 1), (4, 3).
Write the equation in slope- =6
intercept form.
x—6y=-30
# Answer: Y # Answer: y = — Zx +5
. /,
A Write the equation of the
$ line. -
Find the slope of the line: 4 e

2X+3y=15 Is 1 B2 dio




. 1
# Answer: y:gx+5

Write the slope-intercept form of equation of the

# Answer: | _ 5y=20

Write the equation in standard form.

line that passes through: (5,5), (—1, —1). y= _%x s
3
# Answer: 3 2 # Answer: y=x
-

Write the standard form of the equation of the line
passing

3
through: (4, 3), slope = )

Write the standard form of the equation of the line
described.
Slope = -4, y-intercept =3

# Answer:  4x+4 y=3

Write the standard form of the equation of the line
described.

9
Slope = —E, y-intercept = 4

# Answer: 2x+3y=-6

Write the slope-intercept form of the line passing

3
through: (1, 1), slope = —g

# Answer: g, 2y=8

Write the standard form of the equation of the line
described.

1
Slope = g y-intercept = —4

# Answer: 3x — 2y = 6

Find the slope of the line 4*+3y=-9




